(1) + (1)1 8] 22 (n e AAF)

n=2k: (-1)"+ (-1)"*+1
= (=1)%* 4 (-1)%+!

n=2k —I 0 —1)” o (_1)n+1
= (_1)2k—1 + (_1)2k




2.

=

729

(a—b-c)?<= A AN ALY

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca




SRR (522 + 3x + 1)2 & AASHAL W, 22 9] AL

® 10 @ 13 ® 16 @)19

® 25

B

(5x% + 3x 4 1)(5x2 + 3x + 1) | A

1) (A% (L2 9] 3¢ 9x2

i) (1) x () o % 2 x 5x?
=, 5x2 + 5x% 4 9x% = 19x?

19




A (x=2)(ax - 3) =4x* + bx + 7t FFAO HEF A5 a, b, ¢
o 3= shd?

@ a=4,b=5c=6 @ a=2,b=-10,c=5
@a=4,b=—11,626 @ a=2,b=-10,c=6

®a=2,b=-9,c=5

D \
(FH)=ax?> — (2a + 3)x + 60|22

ax? — (2a+ 3)x + 6= 4x> + bx + ¢

AGE vWotH a=4, -2a-3=b,6=c

OlAL EHa=4,b=-11,c=6




5.

(x+1)5 = ag+ a1 x+asx? + azx® + ayx* + asx® ©] x| it F5
]IH, ap + ay —|—a2+a3+a4+a594 %}:'%:[L_a]'?i?

O 8 @ 16 3®)32 @ 64 ® 128




FA 13— 242 4+ 5x— 62 YA x - 28 U 1jo] U]

@ 0 @ 1 ® 2 @ 3 @4

f(x) =x*-2x>+5x-6
=(x-2)0(x) +R
L f(2)=2%-2-224+5.2-6
=8-8+10-6
=4
S R=4




7. A2 +x2+3xE X2+ 1E HE UHA=?

(@)x—l @ x ®1
@ x+3 ® 3x-1

B

44 ol n
x—1
241
Hi2x+1, YA x-1

(2x+1) +




8. &+bP+c2=9, ab+bc+ca=9, a+b+c2 72?

® -3vV2 @ -2v3 ®)+3v3
@ +3v2 ® V6

B

(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3




2x? = 3x -2 = a(x - 1)(x + 2) + bx(x + 2) + cx(x — 1) ©] x°ofl T2t
T2 HEF g, b, ¢ 9] & FotH?

@azl,b:—l,c=2 @ a=-1,b=1,¢c=-2

@ a=1,b=1¢c=2 @ a=-1,b=-1, c=-2

®a=1,b=-1,c=-2

x=-28¥12=6¢c .. c=2




X+
JHS o, 55 abc & FSHH?
@ 4 @ 8 (@)16

@ 32

® 64

x,y,zl sl A 2stA
(a=b)x+(a+b-c)y+(c—4)z=0
x, y, zol tigt gsAloln=
a=b,a+b-c=0,c=4
ca=b=2,c=4

. abc = 16




11.

f(x) =33 +px®+qx+12 7t x+2 22 Yro]Ho| X, x -1 2
throigold o, 7 o gres
p

9 @ ®-9 @®-3 @ ©-12

f(=2)=-24+4p-2g+12=0
f)=3+p+qg+12=0
qg -12

p=-3,q=-12, L =" —4
q = 3




TFFA 203 4 ax? + bx + 3 °] thA] 2x% —x -3 O & o] Hojd
o, a+b o] T2 7

@ 3 @1 ® -1 @ -2 @—5

B ~
2x3 +ax® + bx + 3 = (2x* - x - 3)Q(x)
— (x+1)(2x-3)0(x)
x=-14",2+a-b+3=0
“a-b=-1---Q
s=2au, 2 2t Spi3=0
27 +9a+6b+12=0
s 3a+2b=-13---©
@, 0N a=-3, b=-2
a+b=(-3)+(-2)=-5




13. oA 2x% 4 bax — a? & A P(x) & Ye %°] x + 3a, HHZ7}
2a> 4 o, oFFA] (x + a)P(x) & HEPH A7

@ x2 4+ 2ax - 242 @ x2-a?

® 2x% + 3ax+a? @ 2x% - 3ax —a?

©2x2 +ax —a?
D 1

2x2 + bax — a* = P(x)(x + 3a) + 24* 0| B2

P(x)(x + 3a) = 2x* + bax — 3a®

wrebA] | o] P(x) = 2x2 +5ax—3a%? S x+3a 2 Uie O] B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)

=2%% 4+ ax —ad?




14. ko groll BA Qo] (2k2 - 3k)x — (k + 2)y — (k* — 4)z = 280]
AL S x,y, 29 22 AL o, 3x +y + 29 727

® 1 @ 2 @3 @ ® 5

v

otk

~&B

F017 A& kol sl A =lstH

(2x—2)k? = (Bx+y)k— (2y -4z +28) =0

Lo 2x-2=0,3x+y=0,2y-4z+28 =0
72=2x, y=-3x = 2y—4z+28 = 0°f f4sIHA
x=2,y=-6,z=4

L3x+yt+z=4




15. o34 P(0) & x+ 12 e "olA 2, x - 22 Wil Yef 27} 3
ofeh. ofwf, P(x) & (x+ 1)(x - 2) & WHr3le o Y22

®x @—x+1 (@)_x+1

@ —2x+2 ® 2x+2

P(x) = (x+1)0(x)

P(x) = (x-2)Q'(x) +3

P(x) = (x+1)(x-2)Q"(x) +ax+b
P(-1)=0, P(2)=3°]E2%,

—a+b=0, 2a+b=3
La=1,b=1
ek el x4 10]c,




